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Ea A (w)

AEAFIAEE ()

2,290 L I 4, 580 K1 y = 0.8w
4,580M LA 11, 610 LA R y = (—3w?2+ 69,980w) / 70, 300
11,6108 14, 150 LA F y = 0.5w
14, 1509 #2 y = 17,075
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B4&BH%8 (w)
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2,290 LL I 4, 580 K1 y = 0.8w
4,580M LA F11, 610 LLF y = (—3w?+ 69,980w) / 70,300
11,6108 15,550 LT y = 0.5w
15, 5508 y = 1,775
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B4&BH%8 (w)
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2,290 LL |- 4, 5801 A5

y = 0.8w

4,580 LL 10, 460 LLF

{ y = (—7w'+126, 140w) / 117,600
y = 0.05w+4, 184
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10, 460 14, 860 LA T y = 0.45w
14, 860 #2 y = 6,687
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Hae R (w) EAFHHZ (v)

2,290 L I 4, 580 K1 y = 0.8w
4,580M LA F11, 610 LLF y = (—3w?3+ 69,980w) / 70,300
11,6108 12, 740MLLT y = 0.5w
12, 740 #8 y = 6,370
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TR26EEBYHTFHTEHRIEELE | TR2IEESEDTHELRGEEE
4 264,410 263,065
5H 260,686 258,381
6A 262,102 260,547
78 261,290 259,952
8H 259,938 258,158
9H 261,019 258,727
10R 261,659 259,928
118 261,571 259 463
12R 261,502 259,702
18 256,660 256,261
2R 257,074 258,570
3A 259,251 261,064
FEE 3,127,162 3,113,818
1 260,597 259,485




